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1. 20% fB3& Y, Y,Ys,...,Y, A— @B EEEAREA 0T 2 EE &3 (pd)
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(2)10% HH—18 60 = Lu5 it E (sufficient statistic) °
(b) 10% ## 6 Z & AdEffE3t & (maximum likelihood estimator) -

<

2. 20% F X 1 Y ABMIEAREH Hofasd Nwl) 2 Nuw4d) - #FR
B op 2RANHF ERBESHE (UMVUE) -

3. 25% REMyA BRETTAH r Bk s EEK - kBT PHEMAE
B on EREBBEAKE) 4 X A7 Pk @0 BIRMBEREE X
B4 A2 % a7 54 o (hypergeometric probability distribution)

AHE R YA EMAREFT M G5Bk $IEL A phyper- R R A
phyper(x,r,s,n) = P(X < x|r,s,n) °

BREEFITALTFEARK £ F100/8 B 4csk - 408 B3k o HMIH FERE
50 B OBRAVBBRALK BAMM A SHAEE T THARNGEB 0 -
HEUT ROGLERLE—ME 0 & 90% 1248 &R (confidence interval) e

phyper(12,100,187,50)= 0.0516281, phyper(12,100,186,50)= 0.0495592
phyper(12,100,507,50)= 0.9497874, phyper(12,100,508,50)= 0.9503746

phyper(13,100,450,50)= 0.9502067, phyper(13,100,449,50)= 0.949516
phyper(13,100,170,50)= 0.0497668, phyper(13,100,171,50)= 0.052096

phyper(14,100,156,50)= 0.0503549, phyper(14,100,155,50)= 0.0478173
phyper(14,100,402,50)= 0.9505335, phyper(14,100,401,50)= 0.9497372

4. 35% % X B—1EJF & e RE 4 4 2 (non-negative integer valued random
variable) - f23% X R A & —$ 2ME >

(a) 15% #HP AT OB EARE » 7 —% £E(type Lerror) 8y 37 A& 0.125
Z M T > HE 8 & A /4 2 (most powerful test) » it K E M Z /1 (power) e

x.
Ho: f() = =, x=0,12,..  Hy: f(x) = %G) ,x=012,..

(b) 20% ##(a)FHH E L BB 45— 4 Bk cME (B Hp:0=6,) , B
# #7H, A& # 418 3% (composite alternatives) - 35 5] E4#589 Hy > — R\ A WKL
(UMP)& 74?7 (BMBERR)




